


	Mathematics                              End Term 4
                                                             40 mins

39 marks                                                Date


	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.3



10 marks)

a)

Calculate each of the following:

i)

17% of 44










ii)

[image: image1.wmf]2

1

12

 % of 120

iii)
The rent of $235 is to be increased by 4%.  What is the new rent ?
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(1 each)
b)

Rewrite as a ratio and simplify:
24 people passed the test, 6 didn’t pass the test.








(1)
c)
The ratio of a juice concentrate to water is 1 :  4.  If 16 L of water is being used, how much juice concentrate needs to be added?
















































(1)
d)
If the sowing rate of a soy bean is 45 kg per ha, how much soy bean seed is needed to sow 80 ha?











































































(1)
Question 2 (PA5.2



7 marks)

a)


i)


Solve: 
x – 2 = 12



























































(1)





ii)


Solve: 
7x = 14






























































(1)





iii)

Solve: 
3x + 2 = 11

























































(1)

b)
Write as a symbolic equation and then solve:  A number is divided by five and then six is subtracted to give an answer of eleven.














































(2)

c)


Find the value of x:































































(2)
Question 3 (CD5.1, CD5.2



13 marks)

a)


Explain the difference between discrete and continuous.






























(2)
b)


Use a stem and leaf plot to represent the following data:





Also find the mode, median, and mean




34, 31, 28, 27, 42, 37, 43, 36, 34, 29, 34




































(1,1,2,2)
c)
Which central measure, mean, mode, or median would be most useful in each of the following cases?





i)

The average weight of Year 12 students





ii)

The most popular shoe size





iii)
The house prices






























































(3)
d) 
A person has an average of 82 after five tests.  What mark must the person get on the sixth test so that the average of the six tests is 85?






































(2)
Question 4 (M5.1



9 marks)

a)

Calculate the area of each of the following shapes:



i)































ii)






















iii)


















































































(2 each)

d)

A shape is made by putting three squares together.




If the perimeter is 40 cm, what is the area of the shape?






























(3)
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	Mathematics                              End Term 4

                                                             40 mins

39 marks                                                Date


	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.3



10 marks)

a)

Calculate each of the following:

i)

31% of 63










ii)


[image: image6.wmf]2

1

37

% of 180

iii)
The rent of $225 is to be increased by 5%.  What is the new rent ?

iv)
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(1 each)

b)

Rewrite as a ratio and simplify:
Gary is at work for 8 hours and at home for 16 hours.



(1)

c)
The ratio of jelly crystals to water is 1 :  20.  If 2 L of water is being used, how much jelly crystals needs to be added?
























































(1)

d)
If an Australian dollar can be exchanged for $US 0.07, how many Australian dollars are needed to buy $US 70?




























































(1)

Question 2 (PA5.2



7 marks)

a)


i)


Solve: 
x + 3 = 6




























































(1)





ii)


Solve: 
3x = 12






























































(1)





iii)

Solve: 
2x − 3 = 7


























































(1)

b)
Write as a symbolic equation and then solve:  A number is increased by three and then multiplied by four to give thirty-two.

















































(2)


c)


Find the value of x:































































(2)

Question 3 (CD5.1, CD5.2



13 marks)

a)


Explain the difference between discrete and continuous.






























(2)

b)


Use a stem and leaf plot to represent the following data:





Also find the mode, median, and mean.





56, 54, 49, 57, 56, 61, 60, 53, 56, 48, 48, 56
































(1,1,2,2)

c)
Which central measure, mean, mode, or median would be most useful in each of the following cases?





i)

The average height of Year 8 students





ii)

The number of desks in the classroom




iii)
Car prices




































































(3)

d) 
A person has an average of 78 after four tests.  What mark must the person get on the fifth test so that the average of the five tests is 80?






































(2)

Question 4 (M5.1



9 marks)

a)

Calculate the area of each of the following shapes:



i)






























ii)























iii)























































































(3)


d)

A shape is made by putting three squares together.




If the perimeter is 60 cm, what is the area of the shape?






























(2)

ooooooOOOoooooo




	Mathematics                              End Term 4

                                                             40 mins

39 marks                                                Date


	Instructions:  1.  Answer all questions.

 2.  Calculators permitted



Question 1 (N5.2, N5.3



10 marks)

a)

Calculate each of the following:

i)

48% of 71










ii)
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iii)
The rent of $190 is to be increased by 3%.  What is the new rent ?

iv)
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    (1 each)

b)

Rewrite as a ratio and simplify:

Jan consults for 6 hours and administers for 4 hours.





























(1)

c)
The ratio of oil to petrol is 1 :  30.  If 3 L of petrol is being used, how much oil needs to be added?





































































(1)

d)
A type of concrete requires a ratio of 6 bags of sand to one bag of cement.  How many bags of cement need to be added to 26 bags of sand?






















(1)

Question 2 (PA5.2



7 marks)

a)


i)

x + 4 = 11
































































 (1)





ii)

5x = 15





































































(1)





iii)
2x – 3 = 11

































































(2)

b)
Write as a symbolic equation and then solve:  A number is divided by four and then seven added to give an answer of ten.












































(2)


c)


Find the value of x:






















































































(2)

Question 3 (CD5.1, CD5.2



13 marks)

a)


Explain the difference between discrete and continuous.

























(2)

b)


Use a stem and leaf plot to represent the following data.

Also find the mode, median, and mean.





44, 47, 54, 34, 55, 50, 44, 39, 37, 44 
































(1, 1, 2, 2)

c)
Which central measure, mean, mode, or median would be most useful in each of the following cases?





i)

The average weight of Year 8 students





ii)

The number of cats in each house





iii)
weekly wages































































(3)

d) 
A person has an average of 46 after six tests.  What mark must the person get on the seventh test so that the average of the seven tests is 50?



















(2)

Question 4 (M5.1



9 marks)

a)

Calculate the area of each of the following shapes:



i)































ii)






















iii)















































































    (2 each)


b)

A shape is made by putting three squares together.




If the perimeter is 64 cm, what is the area of the shape?


























(3)

ooooooOOOoooooo







































































































8.3 m





7 m





6 cm























17 cm





6.3cm





6x











4x





9.8 m





5 m





5 cm





22 cm





7.2cm





5x





3x














7.3 m





4 m





4 cm














19 cm





5.1cm





6x





3x
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